WOOMMBNLSECOND REVISIONWFESTsc. 2025

S Standard X Reg.No.:
MATHEMATICS g Adishys
Time: 3.00 hrs. - Part -1 Marks: 100
. Answer all the questions. 14x1=14

1
1. Iff(x) = 2x% and g(x) = I then fog is

8 2 2 sl
a3 b) a2 I o2 d) =2
2.5\ (mod 100)
a) 1 | hy 2 TUIRe S d) 4
3. Thevalueof (13+23+3%+ ... s (L3t +15)is
a) 14400 - b) 14200 - c) 14280 d) 14520
4. Which of the following should be added to make x4 + 64 a perfect square?.
a) 42 b) 16x2 Sug) «6x2 d) —8x%.

tricés

1 i 2 !
5. Which of the following can be calculated from the given ma 5 ; and i

120 .

B4 .8 8 i) A2 (i) B2 (ii)AB  (iv)BA
789 |

a) (i) and (ii) only b) (ii)and (iii) only

c) (i) and (iv) only d) Allofthese
6. How many tangents can be drawn to the circle from an exterior point?

a) One b) Two c) Infinite.  d) Zero
7. Which one of the following cannot be Pythogorean triplets?
gy (3,4,5) ™ D) (5,12,13) c) (4,5,6) d) (6,8,10) |

8. A man walks near a wall, such that the distance between him and the wall is
10 units. Consider the wall to be the y-axis. The path travelled by the man is
a) x=10 b) y=10 B en . d)y=0
9. IfAisapointon the y-axis whiose ordinate is 8 and B is a point on the x-axis whose
abscissae is 5 then the equation of the line AB is '
"a) 8x+5y=40 b) 8x"—5y=740 ~¢c) x=8 . dy=5

‘ 1+tan2A th
. 1+cot?A \
@) sec’A b) —1 ‘ c) cot?A d) tan?A

b o 5
A— ki : i
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A tower is 60 m high. Its shadow is X metres shorter when the sun's altityqe |
11.

S 450
than when it has been 30°, then xis. equal to

a) 41.92m b) - 43.92 m c) 43m d) 45.6 m

12. The total surface area of a hemi-sphere is how much times the square of jts radiys?
a) w ‘ b). 4n c) 3n d) 2n

13. The range of the data 8,8,8,8,8........8 is .
a) 0 b) 1 e T R d) 3

14. A bag contains 3 red balls and 7 white balls. One of the ball is drawn at random fro,
the bag. Then the probability of getting green ball is

3 A
- — Ko c) 0 ' d) 1
a) 2 ‘ b) 16 ) )
Part ! |
Il. Answer any 10 questions. (Q. No 28 is compulsory) : 10x2=20

A5, 1f A= {1,3,5} and B = {2,3}, then show Lhat n(Ax B) = n(A) x n(B)
AB. Letf(x)=x%—1, find fof. R
AT. Findthe 8" term of the GP: 9,3,1, ..

4xy 6xz°
222 20y*4

| @, Simplify :

9, Determine the quadratic equations, whose sum and product of roots are —9, 20
2@ State Ceva's theorem. '

\4”! Emd the slope of a line jomlng the glven pomts (14 10) and (14, —6)

; %Emd the equation of a straight line passmg through (5, 7) and is (i) Parallel to X axis
(ia) Parallel to y axis

H 23. From the top of a rock 50J_ m hlgh the angle of depressmn of a car on the ground
Wns observed to be 30°. Find the distance of the car from the rock.

24. A cylindrical drum has a height of 20 cm and. base radius of 14 cm. Find its total
g surface area.

The volumes of two %nes of same base radius are 3600 cm? and 5040 cm3: Find
the ratio of heights.

26. Find the standard deviation of ﬂrst 7 natural numbers.

“ - Adie is rolled and a coin is. tossed slmultaneously Find the probability that the die
i, shows an odd number and the coin shows a head.

- Find the largest number which divide 47 and 23 leaving remainder 7 in each case.

8 5
B e i
$Ci . COE
LT
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(3) - X Maths
Part - il
lll. Answer any 10 questions. (Q.No.42 is compulsory) ' 10x5=50

. Letf : A — B be a function defined by f(x)=
B={0,1,2,4,5,9). Represent f by

-1 where A = {2, 4, 6, 10, 12},

N | X

(1) Setof ordered pairs (i) Atable
(i) An arrow diagram - (iv) Agraph
g ' | Ixl if x <2
30. If the function f : R — R is defined by flx)=ix? -2 if -~2sx<3
Sx-2ud \ x=3
(1) 3f(4)

_then the vé\ues of (i)f(4) (i) f(4) + 2f(1) (i) fe3)

31.-Find the 15!, 24" and n" term (general term) of an A.P is given by 3, 15,27, 39 , .....
32. Rekha has 15 square colour papers of size is 10 cm, 11 cm, 12 cm, ......... 4
\/// "How much area can be decorated with these colour papers’?
33. Find the square root of the following polynom|a| by division method :
x*—12x3+42x2-36x+9 . ,
34. From a group of 2x~2 black bees, square root of half of the group went to a tree.
Again eight-ninth of the bees went to the same tree. The remaining two got céught

upin a fragrant lotus. How many bees were there in total?

13 1.5

36. In AABC, D and E are points on the éides AB and AC respectively such that DE||BC.
If AD = 8x — 7, DB = 5x— 3, AE =4x —3 and EC = 3x — 1, find the value of x ;

37. You are downloading a song. The percenty (in decimal form) a mega bytes remaining
to get downloaded in x seconds is given by y=-0.1x+1. -
(i) Find the total MB of the song .
(i) After how many seconds will 75% of the song gets downloaded'?

‘/ (iii) After how many seconds the song will be downloaded completely?

38. From the top of the tree of height 13 m, the angle of elevation and depression of the

top and bottom of another tree are 45° and 30° respectively. Find the height of th\e

second tree. (J— 1 732)
39. A rectangular sheet of of paper 40 cm x 22 cm is rolled to form a cylinder of helght

/ 40 cm. Find the volume of the cylinder so formed.
40. If the radii of the circular ends of a frustum which is 45 cm high are 28 cm and 7 cm,

12 a0 s |
35, Let A= , B= show that (A—B)T = AT - BT

find the volume of the frustum.
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41. Threeunbiased coins are tossed once. Find the probability of getting atmost 2 tails
or at least 2 heads.

v 42. GwenaquadrllateralABCD with vertlces A(=3, —8), B(6, —6), C(4, 2), D(-8, 2)

(i') Find the area of AABC
(i) Find the areaof AACD

(m) Using the results of (|) & (i), fi nd the area of quadrilateral ABCD.

: Part - IV

Iv. Answer all the questions. : : 2x8=16
43. a) Construet a triangle APQR such that QR = 5 cm, £P = 30° and the altitude from
P to QR is of length'4.2 cm. |
i (OR)

b) Construqt atriangle similar to a given tﬁangle LMN with its sides equal'two% of

the correspondmg sides otthe triangle LMN. (Scale factor — 5 )

44. a) Varshika drew 6 circles W|th different sizes. Draw a graph for the relatlonshnp
between the diameter and circumference of each circle (approximately) as shown
in the table and { use lt to find the curcumference of a circle when its diameter is
6 cm. )

™

Diaméteg‘-‘; (x) cm Lilicotl 2 T 145

Circumferencé (y)cm | 3.1 | 62 | 9.3 | 12.4 [ 155
| i (0R)

J » ) \
b) Discuss the nature of solutlons of the. follownng quadratic equatlons
| x?~8x+16=0 .

RhhfRkhR
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